KSA

%N

] A-126 QAR E

FBE RIS 1/ Ultra compact cylinder

K S A . $12 16 #20 #25 332 B40 #50 $63 80 F100
series

AE (mm) 12 |16 {20 |25 (32|40 (50|63 |80 (100
s A/ Acting PG EiLVE-= L il
TAENFR/Fluids ERER
1 FA JE 77 /Pressure range WF70.1MPa. E%70.2MPa
i [ 73 /Pressure-resistance 0.9MPa
T 1E:5 & /Fluids temp 5~+70C
IR ESEEl/Speedrange| XX Zh30 ~ 800 mm/s. . &H50 ~ 800 mm/s
1TH2 2 2 /Sioke olrance 4 mm

1, FREBISEL 22 B 3K/ Cushion type I

2> Elﬂigﬁfi;;%%‘g%iﬁ%#*%ﬁﬁﬁﬂ 3888 3K/ Lubrication EE

3. HHNERELREEMERAL |[BEOE/ Potsze | M508 | 18 | U4 | 38

SE72, WE. WAL, * BEE, BRETISH.

4. BEEHRMAFHIEEEHEH,
R~TR%E, AHLIEE;

5. EERMGH, RENPARESE T
6. MAEREERELF A, B, CEMALGL
RS L T ] ] ]
W zh Pyl W EHW Fh 585 £ 3] EEH
7. BRI ZE AT (R R

—i] e e ]

KSDAW B 20 - 50 D M -/ CS1-J 'S - XC16

e

R BRI 5 (fik) ML T RN
Tt e TR BHIF AR 1712 FiRe: Fim Mg Tize: 24
D: W BRI M:FF i ShZ 4L s 14
N: n™
[ |
e i) Tk MEAR T AE
Tioe #EEF  BIETL D: MW Fie: RHiMFE TiLS: fofE
WIGERF  ARIRRIZY S (HMEERE) e XC8: {TIZATIAEL (R A
LR e mEEy) CoVFREER Lo ki wE e
FoAF 5% =21 XC11: WiTHZ/EHiEEFE
G: e mix =2 XC16: FciiEFa
D:WUB £45!

www.F-TEC.cn




KSA series

1T7%2/Stroke

12 15 10 15 20 25 30 35 40 45 50 55 60

wwiTEcen | FHRTELD

510 15 20 25 30

20 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75
80 85 90 95 100

5 10 15 20 25 30

100 | 130

5 10 15 20 25 30 35 40 45 50 55 60 65

50 |70 75 80 85 90 95 100 110 120 130

510 15 20 25 30

130 | 150

CSI-J

80 |5 10 15 20 25 30 35 40 45 50 55 60 65 70

100 [75 80 85 90 95 100 110 120 130

130 | 150

m KSDA series/pt#E!

1 |F= 6 |0BL[E
2 |EE 7 |FEHE
3 |REZHE| 8 [H4HE
4 |EIiK 9 |BREHM
5 |pi= 10 |#£IR

F EF 444 B /Material Quality

Al e REE EETHE NBR
TEEE S45CHERELE | FTEHE NBR
EaN] mEE 0ZY[E NBR
EE RE® HAIR el

83




KSA series wwrTecen | (@@ TELD
#BiE A S T /Ultra compact cylinder (%)

il S ERELAR/Di

N
KS (D) AB12~16 series KS (D) AB20~100 series
KSA AR EAR
A+Stroke D
Bl C+Stroke Ef—s’ P3P4 S R
T T Ux45°

M I R ¥
sz ggli
W
2E1E 7

F

Bl C+Stroke

A+Stroke

AR GE : E
f“l) A i Fif# Dl—  JF|lG| KL |L|M|NL|N3| O
mm [ A [B1]C|A][BL]C TR <10/{7E>10
12 |25 |17 ]3]5 ] - 6 4] 1 [ m3x05 [102]28]63] 6 |M5x0.8
16 | 24 | 55185/ 34 | 55 |285] - 6 4] 15| M3x05 | 11 [2.8] 7.3 | 6.5 | Msx0.8
20 | 25 |55 (195] 35 | 55 |295] 36 8 4]15| Max0.7 | 15 [2.8] 75| - |msx08
25 |27 6 |21 ]37] 6 |31]4 10 4] 2 [msx08 [ 17 [28] 8 | - [msx0.8
32 [315] 7 [245[415] 7 |345] 50 12 4] 3 [mex10 |22 (28] 9 | - | 18
40 | 33| 7 | 26|43 7 | 36585 12 4] 3 |m8x125| 28 [28]10 | - | 18
50 |37 ]9 |28 |47 ] 9 | 38715 15 5| 4 [mi0x15] 38 [28[105] - | 14
63 | 41| 9 32 | 51| 9 | 42 [845 15 5| 4 |[M10x1.5| 40 |28 12 | - 1/4
80 | 521141 [62]11 |51 104] 15 20 |65 |M4x15] 45 | 4 [145] - | 38
100 | 63|12 |51 | 73|12 |61 |124| 18 20 |75 |M18x15|55 | 4 |205] - | 318
paEs P1 P3(Pa|R|[S|T|T2] UV |W]|X]|Y
12 |im7L:¢65, #240:M5x0.8, @BFL:#42 | 12 |45 | - | 25 162 |23 |16 | 6 | 5 | - -
16 |37i7L:965, 484 M5x08, @7L:042 | 12 |45 | - | 29 |198 |28 |16 | 6 | 5 | - | -
20 |J7L:965, $BLLM5x08, BFL:#42 | 14 |45 | 2 | 34 | 24 | - | 21| 8 | 6 |113 | 10
25 |Ji7L:882, ¥B40:M6x10,BFL:046 | 15 |55 | 2 | 40 | 28 | - | 31 |10 | 8 | 12 | 10
32 [M7L:082, $BLU:M6x10, BFL:946 | 16 |55 | 6 | 44 | 34 | - |215| 12 | 10 |183 | 15
40 |SFL:010, $B50:M8xL25, SBFL:#65 | 20 | 75 | 65| 52 | 40 | - |225]| 16 | 14 |21.3 | 16
50 |JT7L:#11, 485 M8xL25, JBFL:665 | 25 | 85 | 95| 62 | 48 | - |415| 20 | 17 | 30 | 20
63 |JFL:#11, 485 M8xL25, ®FL:#65 | 25 | 85 | 95| 75 | 60 | - |3.45| 20 | 17 | 287 | 20
80 |J7L:914, $B4L:M12xL75, SBFL:692 | 25 |105| 10 | 94 | 74 | - |365| 25 | 22 | 36 | 26
100 |377L:8175, 4841 M14x2.0, iBFL:611.3| 30 | 13 | 10 | 114 | 90 | - |365| 32 | 27 | 35 | 26

rry
L

[ 4125 ==

www.F-TEC.cn




KSA-S series wwirecen | ElETED

4MER#R 4% /Dimensions

w B FE A w B EE
A+Stroke
Bl C+Stroke
M P3 P3 Uxd45°
P4 P4 K
= = [%2]
SRS %,
W =
2R N N\20 ||
G
IR -
Bl C+Stroke
A+Stroke
12 | 32|42 |5 |27 |37 | 42|52 |5 |37 |47 | - |6]4]1|M3X05(102/28|6.3| 6 |M5x0.8
16 34 | 44 |55|285(385| 44 | 54 (55|385(485| - |6 |4 |1.5|M3x0.5| 11 |2.8|7.3|6.5|M5x0.8
20 35| 45 |55(295(395| 45 | 55 [55(39.5(495| 36 | 8 | 4 |1.5|M4x0.7 | 15 |2.8|7.5| - | M5x0.8
25 37| 47 | 6 | 31 | 41 | 47 | 57 | 6 | 41 | 51 | 42 |10 |4 | 2 |M5x0.8 | 17 |2.8| 8 | — | M5x0.8
32 |415|515| 7 |345(445|515(615| 7 (445|545| 50 (12| 4 | 3 |M6x1.0 |22 |28| 9 | - 1/8
40 | 43 | 53 | 7 | 36 | 46 | 53 | 63 | 7 | 46 | 56 (585 (12| 4 | 3 |M8x1.25| 28 (28|10 | - | 1/8
12 |J7L:96.5, 4240:M5%0.8, i@ FL:04.2 12 |45 | - 25 (162 | 23 | 1.6 6 5 - -
16 |JFL:96.5, 240:M5%0.8, iBFL:84.2 12 (45| - | 29 |198 | 28 |16 | 6 5 - -
20 |JTFL:$6.5, HB41:M5x0.8, iBFL:#4.2 14 |45 | 2 | 34 | 24 - |21 8 6 |11.3 | 10
25 | inFL:$8.2, 2L M6xL0, BFL:94.6 15 | 55| 2 | 40 | 28 - | 31| 10 8 12 10
32 | im7L:98.2, $BLL:M6x1.0, BFL: 846 16 | 55| 6 44 34 - |215]| 12 10 | 183 15
40 |IFL: 910, $R4L: M8x1.25, B FL:96.5 20 | 75 | 65| 52 | 40 - |225| 16 | 14 | 213 | 16




KSA-T series

www.F-TEC.cn | EEF.TE:

W BEEHE
A+2xStroke
B1+Stroke C+Stroke
F+Stroke P3 P3
M—T P4 P4
S{E =
1 =
W =
2m N N0 _|NL|
G
W B EEHE
W
ol
F+Stroke |
BlStioke | C+Stroke
A+2xStroke
12 | 32|42 |5 |27 |37 | 42|52 |5 |37 |47 | - |6]4]1|M3X05(102/28]6.3| 6 |M5x0.8
16 | 34 | 44 |55|285|385| 44 | 54 |55(385|485| - | 6 |4 [1.5/M3x05 | 11 |2.8|7.3|6.5| M5x0.8
20 | 35| 45 [55(295/39.5| 45| 55 [55(39.5(49.5| 36 | 8 | 4 |1.5|M4x0.7 | 15 |2.8|7.5| - | M5x0.8
25 37| 47 | 6| 31| 41 | 47 | 57 | 6 | 41 | 51 | 42 |10| 4 | 2 |M5x0.8 | 17 |2.8| 8 | - | M5x0.8
32 |415|515| 7 |345|445|515|615| 7 |445|545| 50 |12 4 | 3 |M6x1.0 [ 22 |28| 9 | - 1/8
40 | 43 | 53 | 7 | 36| 46 | 53 | 63 | 7 | 46 | 56 |585 |12 |4 | 3 (M8x1.25| 28 {2810 | - | 1/8
12 |JFL:96.5, 4240:M5x0.8, i@FL: 042 12 (45| - | 25 |162 | 23 |16 | 6 5 - -
16 | FL:96.5, $240:M5x0.8, B FL:94.2 12 (45| - | 29 |198 | 28 | 16 | 6 5 - -
20 |JFL:$6.5, 4BL:M5x0.8, B FL:94.2 14 |45 | 2 | 34 | 24 - |21 8 6 |11.3 | 10
25 |inFl:98.2, #R4r:M6xL.0, iBFL:04.6 15 | 55| 2 40 28 - 31 | 10 8 12 10
32 | imFL:08.2, HRL:M6xL.0, iBFL:04.6 16 | 55| 6 44 34 - 215 12 10 | 183 15
40 | JFL: 910, $R40:M8x1.25, i@ FL:96.5 20 | 75| 65 | 52 40 - 225|116 | 14 | 213 | 16
r 1 1 I
] A 130 A=
www.F-TEC.cn




KSA series wweTtecen | EH ETED

4MNER#1& /Dimensions
| KS(D)AB12~16 series

o FumsMRGLEY

B2 (B2+3# # [ H1774%)

E(E+3# & E H1718)
H F(F+38 & E H1T#8)

M

T

oL

= FrimSMES R

B2 (B2+3# & E Hi1718)
E B+ & E H1T72)

H | F(F+38 & & H1TH2)
M

F

12 |17 |16 [ 4 |1 |10 | 8 | 4 | M5x0.8 |10.2| 28 | 6 5
16 17516 | 4 |15]10 | 8 | 4 | M5x0.8 | 11 |28 | 6 5
20 |205 |19 | 4 |15 (13 |10 | 5 | M6x1.0 15 28] 8 6
25 |23 |21 | 4|2 |15 |12 | 6 | M8125 | 17 |28 | 10 | 8
32 |25 |22 |4 |3 |15 |17 | 6 [MIOx125 | 22 | 28 | 12 | 10
40 |35 |32 |4 |3 |2 |19 | 8 | M4x15 |28 |28 | 16 | 14
5 |37 |33 |5 |4 | 25|27 |11 | M1815 | 38 | 28 | 20 | 17
63 | 37 |33 |5 |4 |25 |27 |11 | M1815 | 40 | 28 | 20 | 17
80 | 44 |39 |6 |5 |30 |32 |13 |M22x15 | 4 | 4 |25 | 22
100 | 50 |45 | 7 |5 |35 |36 |13 | M26x1.5 | 55 | 4 | 32 | 27




KSAW seri STED
SeI’IeS www.F-TEC.cn | Er.|=|.
ik | &= H
8BRS E1/Ultra compact cylinder (WAFEY)
il SMNERHL A% /Di
N
KSAW12~16 series
e A+2xStroke
KSAW PUSEE- 2 il BL C+Stoke _ Bi+Stroke
M P3 P3
P4‘ ‘P4
SEL B — o — 11—
e e
_ |
2@iE | Ny 20 M
FlLG
KSAW20~100 series
. P3 P3 D
NEEATE o T s 7
M T | Uxds®
S a———
i e ]
; |
2[R
LG 2.0 N1
N1
B1] C+Stroke B1+Stroke
A+2xStroke
/X q ] E
f“f APt iEEE Dl———— {F|G| KL |L|M|NL|N3| O
mm | AlBL[C|A]|BL][C T <10/{T>10
12 |27 5 |17 ]37]5 |27] - 6 4] 1 |[M3x05 [102]28]63 ] 6 |M5x0.8
16 |295|55 |185|395] 55 |285| - 6 4|15 | M3x05 | 11 |28 7.3 |65 | M5x0.8
20 [305]55 [19.5[405] 55 |295] 36 | 8(4752=51%6.5) | 4 |15 | Max0.7 | 15 |2.8] 75| - |Msx08
25 |33 6 |21 [43] 6 |31 |42 |10G4TH2=5R447) [4] 2 [M5x0.8 [ 17 [28] 8 | - [M5x08
32 |385| 7 |245(485] 7 [345/50 | 8 12 4|3 |mexto |22 [28] 9 |- | us
40 |40 | 7 | 26|50 7 | 36|585] 8 12 |43 |mext.25|28 [28]10 | - | ws
50 |46 | 9 | 28 |56 | 9 | 38 |715| 8 15 |5 4 |M10xL5| 38 |2.8105] - | 4
63 |50 | 9 | 32 | 60| 9 | 42 |845] 10 15 |5 4 |M10x15] 40 |28 12 | - | va
80 | 63|11 | 41 | 73|11 | 51 |104| 13 20 |65 |M4xL5| 45 | 4 |145] - | 358
100 | 75|12 | 51 | 85 |12 | 61 |124| 18 20 |75 |M18xL5]55 | 4 [205] - | 38
s P1 P3|P4|R|S|TI|[T2] U |V |W]|X]|Y
12 |577L:965, 4840 M5x08, BFL:042 | 12 |45 | - | 25 [162 |23 [16 |6 | 5 | - | -
16 |577L:065, L M5x08, @AL:042 | 12 |45 | - | 29 |198 | 28 |16 | 6 | 5 | - | -
20 |377L:065, 4BLLM5X08, BFL:042 | 14 |45 | 2 | 34 | 24 | - | 21| 8 | 6 |113 | 10
25 |J7L:#82, ¥BLL:M6x10, ®FL:046 | 15 |55 | 2 | 40 | 28 | - | 31 |10 | 8 | 12 | 10
32 |S77L:98.2, BHLM6xLO, BFL:046 | 16 |55 | 6 | 44 | 34 | - |215| 12 | 10 | 183 | 15
40 |37L:610, $B5 M8xL25 BFL:965 | 20 | 7.5 | 65| 52 | 40 | - |2.25| 16 | 14 | 213 | 16
50 |JRFL:011, $4:M8xL25, ®7L:065 | 25 | 85 | 95| 62 | 48 | - |415| 20 | 17 | 30 | 20
63 |JMFL:011, $4:M8xL25, ®7L:665 | 25 | 85 | 95| 75 | 60 | - |3.45| 20 | 17 | 287 | 20
80 |3T7L: 014, $B40: MI12x1.75, BFL:692 | 25 |105|10 | 94 | 74 | - |365| 25 | 22 | 36 | 26
100 |377L: 9175, ¥B5:M14x2.0, iBFL:011.3| 30 | 13 | 10 | 114 | 90 | - |365| 32 | 27 | 35 | 26
|| EEA FTEC [
rICL e
www.F-TEC.cn




KSA-XC8 series

#E RS 51 /Ultra compact cylinder (1 & al {7128

SMERFR 4%/ Di

www.F-TEC.cn | EETEE

A,
A
KS (D) A12~16-XC8 series
_ A+2xStroke+if 131712 KSA
A ETIEE Bl C#Stoke Stroke _QHBTHTE -XC8
- M P3 P3 J
KS (D) A ZERR (ERE - (752 - 2} 2
BTEE - XC8 i e e
< Bl —g | —F
; Lo
0<Stroke<25 JATISEE 0~ 10mm " %
25<<Stroke<<50 JATISEE 0~25mm 2[R N 20 M
Stroke=50 JATiSEE 0~ 50mm Fl e -
KS (D) A20~100-XC8 series
Ny P3 P3
B ATEITIEE A ey
KS (D) A &% (E1E - 1718 -
iAT5ER - XC8 e —
:él Q—--- —Ot-——f—
W_
0<Stroke<?25 JIH3EME 0~1om 0% | |5 0 I
25<Stroke<<50 JATI3E[E 0~ 25mm N1
Stroke=50 JA¥5EE 0~ 50mm B1, C+Stroke Stroke _|Q+iAT51T3E
A+2xStroke+if 111712
1R MR R %z E
D = = FIG|J K1 L | M|NL|N3 (0]
mm) | A[BL][C|A|BL]C THE<10/{TH>10
12 |40 | 5 |17 |50 | 5 | 27 | - 6 411 |4 |M3x05 (102|128 |63 | 6 |M5x0.8
16 |42.5| 55 |185|525| 55 (285 - 6 4115| 4 | M3x0.5 | 11 |2.8| 7.3 | 6.5 | M5x0.8
20 |47.5|55 |19.5|57.5|55 |29.5| 36 |8 (fT#E=5R1/96.5) |4 |15 |5 | M4x0.7 | 15 |2.8|7.5| - |M5x0.8
25 | 55| 6 |21 |65| 6 | 31|42 | 10(f1T#2=5RFA7) |4 | 2 | 6 | M5x0.8 | 17 |28 | 8 - | M5x0.8
32 [615| 7 |245(|715| 7 |345]| 50 8 12 41 3 |6 |M6x10 |22 (28] 9 - 1/8
40 [ 65| 7 | 26 | 75| 7 | 36 |585 8 12 41 3 |8 |M8x1.25| 28 (28|10 | - 1/8
50 | 73] 9 |28 |83 | 9 |38 |715 8 15 5| 4 |[11|M10x1.5| 38 |2.8|105| - 1/4
63 |77 | 9 |32 |87 | 9 |42 (845 10 15 5| 4 |11 |M10x15| 40 [28| 12 | - 1/4
80 | 94 | 11 | 41 |104 | 11 | 51 | 104 13 20 6| 5 |13 (M14x15| 45 | 4 (145]| - 3/8
100 105 | 12 | 51 [115| 12 | 61 | 124 18 20 7|5 [13|M18x1.5| 55 | 4 |205( - 3/8
s P1 P3(PA|Q|R|[S|TL|T2|U |V |W]|X]|Y
12 | inFL:96.5, BRE:M5x0.8, B FL:94.2 12 (45|13 | - | 25 | 162 | 23 | 1.6 6 5 - -
16 | iFL:96.5, BRLL:M5x0.8, B FL:94.2 12 |45 |13 | - 29 | 198 | 28 | 1.6 6 5 - -
20 | FL:96.5, HRLL:M5%0.8, i@ FL:94.2 14 |45 | 16 2 | 34| 24 - 2.1 8 6 |11.3 10
25 | inFL:98.2, BRLL:M6x1.0, EFL: 94.6 15 [55|19 | 2 | 40 | 28 - 31 | 10 8 12 10
32 | imfL:98.2, BREL:M6xL1.0, iBFL:94.6 16 |55 21| 6 |44 | 34 - 1215 12 10 |18.3 15
40 | JFL:910, BB M8x1.25, i@ FL:96.5 20 |75 |21 | 65| 52 | 40 - | 225 16 14 | 213 | 16
50 | JuFL: @11, SBEr:M8x1.25, B FL:06.5 25 [ 85|21 |95 62 | 48 - 415|120 | 17 | 30 20
63 | JuFL: 911, B0 M8x1.25, i@ FL:06.5 25 | 85|21 |95 75 60 - |315| 20 17 | 28.7 | 20
80 | mFL: 814, SREL:M12x1.75, BFL:89.2 25 (10524 |10 | 94 | 74 - | 365]| 25 22 36 26
100 | JFL:917.5, BREL:M14x2.0, BFL:611.3 | 30 | 13 | 24 | 10 |114 | 90 - 1365|322 | 27 | 35 26
m =




N

KSA
-XC10

KS (D) AB12~16-XC10 series
SATIENE TR
KS (D) AB (&2 - (17381 + (47382 - XC10

KSA-XC10 series

HEER S E (WTHE/MEEME) / Ultra compact cylinder

il SMERALAR/Di

www.F-TEC.cn | EETEE

A+ (Stroke1+Stroke2)
CO+ (Stroke1+Stroke2)
B C1+Stroke2 C1+Stroke1
M
SRR S e
2 .
R e
2R N | 40 N1
F|l.G

KS (D) AB20~100-XC10 series
WAITIEXGEETR

—
s

;

0

—wlo

Uxd5°
| UXa9

www.F-TEC.cn

W
2R
F
C1+Stroke2 C1+Stroke1
Bl CO+ (Stroke1+Stroke2) Bl
A+ (Stroke1+Stroke2)
4z 1 :
ﬁ—-"m:; A ;Bf;.MﬂCIf) Cl| A BTTGKCO (Cil D 5w E'_ £ FIG L | MNLINS) O v
fTEE<10/{TE>10
12 |44 | 5 | 34|17 |64 | 5 |54 |27 | - 6 411 | M3x0.5 (102 (2.8]6.3 | 6 |M5x0.8| -
16 |48 [ 55| 37 [185| 68 | 55| 57 [285| - 6 4115 |M3x0.5 | 11 (28| 7.3 | 6.5 | M5x0.8| -
20 |50 [ 55|39 (195| 70 | 55| 59 [29.5| 36 8 4115 | M4x0.7 | 15 |28 | 75| - |M5x0.8| 10
25 |54 | 6 |42 |21 |74 | 6 |62 |31 |42 10 4| 2 |M5x0.8 | 17 (28| 8 | - |M5x0.8| 10
32 |63 | 7 |49 |245|83 | 7 | 69 |345]| 50 12 413 |M6x1.0 | 22 (28] 9 | - 1/8 |15
40 |66 | 7 | 52|26 |8 | 7 | 72|36 |585 12 4| 3 [M8x1.25| 28 (28|10 | - 1/8 |16
50 | 741 9 | 56|28 |9 | 9 |76 |38 715 15 5| 4 |[M10x1.5| 38 (2.8 (105 - 14 |20
63 [ 82| 9 | 6432|102 9 | 84 | 42 |845 15 5| 4 |[M10x1.5| 40 (28| 12 | - 1/4 |20
80 |104 | 11 | 82 | 41 (124 | 11 |102 | 51 | 104 15 20 6| 5 |M14x1.5| 45 | 4 (145| - 3/18 | 26
100 |126 | 12 |102 | 51 |146 | 12 |122 | 61 | 124 18 20 7|5 |M18x1.5| 55 | 4 |20.5| - 3/8 | 26
BL{E P P2 PR[PA|R[S|T|T2| U |V |W]|X
12 [IR¥L:96.5, $240:M5x0.8, iBFL:¢4.2 - 12 |45 | - 25 | 162 | 23 | 1.6 6 5 -
16 |JnFL:96.5, $240:M5%0.8, B FL: 4.2 - 12 |45 | - 29 | 198 | 28 | 1.6 6 5 -
20 [FL:96.5, ¥4 M5%0.8, EFL: 4.2 iUFL:06.5, BFL:042 | 14 |45 | 2 34 | 24 - 21 | 8 6 |11.3
25 [InFl:98.2, ¥4 M6x1.0, EFL: 94.6 FL:98.2, @FL:06.2 | 15 |55 | 2 40 | 28 - | 31| 10 8 12
32 |iMFL:98.2, 424 M6x1.0, BFL:04.6 FL:98.2, iBFL:062 | 16 |55 | 6 44 | 34 - [215] 12 | 10 |183
40 |iFL: 910, 3240 M8x1.25, BFL:96.5 FL:910,8FL:082 | 20 | 75 | 65| 52 | 40 - |225] 16 | 14 | 213
50 |iUFL: @11, $EL:M8x1.25, iBFL:$6.5 nFL: 011, @BFL:985 | 25 | 85 | 95| 62 | 48 - |415] 20 17 30
63 |mFL: @11, $RL: M8x1.25, iBFL:06.5 FL: 811, BFL:98.5 25 | 85 |95]| 75 60 - |315| 20 | 17 | 287
80 |iFL: P14, 4BH-M12x1.75, i@FL:09.2 | JFL: @14, BFL:0123 | 25 |10.5| 10 | 94 | 74 - |365] 25 | 22 36
100 |FFL:917.5, 2L M14x2.0, JAFL: 9113 i FL: 9175, i8FL:¢14.2] 30 | 13 | 10 [ 114 | 90 - | 365 32 | 27 35
EBEA FTELC [
11 r.1CL oo




KSA-XC11 series wwrtecen | (@ TED

BERSE (WTiE/BIFEFE) /Ultra compact cylinder

SMER AR 1%/Di

A
KS (D) AB12~16-XC11 series
J— 1o o s A+ (2xStroke1+Stroke2) KSA
WITIE B R ETR : co+ (2xStro;(e1 +Stroke2) -Xcu
- J— p— BI|C1+ (Stroke1+Stroke2 C1+Stroke1
KS (D) AB If® - 4712D + 47122 - XC11 i S o
glg ‘{ ’77:3;7’7 77777 B
= anny ‘,
" Q OO O
2 & .N_]; 3-0 N1
FILG
KS (D) AB20~100-XC11 series .
WITIE BIEEATE i P
- -
—~—————
= iie— ol — o
W
2 g
G 30 N1
N1
C1+ (Stroke1+Stroke2) C1+Stroke1
B1 CO+ (2xStroke1+Stroke2)
A+ (2xStroke1+Stroke2)
2 1 ; E
flf A5 P D t— —— FIG| KL | L |M|NL|N3| O |Y
mm)| A |B1|CO|Cl| A |[Bl1|CO]|C1 TEE<10/i732>10
12 [ 39| 5 [34]17 |59 | 5 |54 |27 | - 6 411 | M3x05 |102]28(63| 6 |M5x0.8| -
16 [425|55 | 37 [185(62.5| 5.5 | 57 (285 - 6 4 15| M3x05 | 11 |2.8]7.3 |65 |Msx0.8| -
20 [445|55 | 39 [195(64.5| 55 | 59 [29.5] 36 8 4115 Max07 | 15 [2.8] 75| - | m5x0.8] 10
25 |48 | 6 [ 42| 21|68 | 6 |62 31|42 10 4] 2 [Msx08 | 17 (28] 8 | - |M5x0.8] 10
32 |56 | 7 |49 (245|76 | 7 | 69 [345] 50 12 413 |M6x10 |22 (28] 9 | - | 18 |15
40 |59 | 7 [ 52|26 79| 7 | 72| 36 |585 12 4] 3 [m8x1.25| 28 [28|10 | - | 18 |16
50 | 65| 9 | 56|28 |8 | 9 |76/ 38 |715 15 5| 4 |M10xL5| 38 [28[105| - | 14 |20
63 | 73| 9 [64|32|93| 9 |84 42 845 15 5| 4 [Miox15] 40 (28] 12| - | 14 |20
80 |93 |11 | 82| 41 [113] 11 [102| 51 |104| 15 20 | 6|5 [M4x15|45 | 4 |145] - | 358 |26
100 114 | 12 |102| 51 (134 | 12 [122 | 61 | 124 18 20 7|5 [M18x15| 55 | 4 [205]| - 3/8 26
ﬁﬁ P1 P2 P3|P4A|R|S | T |T2|lU |V |W]/|X
12 |577L:96.5, 42471:M5x0.8, BFL:94.2 - 122 (45| - |25 162 |23 |16 |6 | 5 | -
16 |ST7L:96.5, 4B47:M5x0.8, BFL:04.2 - 12 (45| - [ 29 19828 |16 |6 | 5 | -
20 [377L:965, $B4T:M5x0.8, @FL:042 | iTFL:965, @FL:042 | 14 |45 | 2 |34 | 24 | - |21] 8 | 6 |113
25 [ST7L:8.2, 424 M6xL.0, BFL:046 | 3iFL:08.2, ®FL:#62 | 15 |55 | 2 |40 | 28 | - |31 |10 | 8 | 12
32 |37L:08.2, 4241 M6x1.0, BFL:046 | FL:08.2, i®FL:#62 | 16 |55 | 6 | 44 | 34 | - |215| 12 | 10 | 183
40 |3T7l:010, 424 M8x1.25, 1BFL:065 | 3u7L:210,i®FL:#82 | 20 | 7.5 | 65| 52 | 40 | - [225| 16 | 14 |213
50 |S77L: 011, 484 MBxL.25, BFL:965 | FL:011, ®FL:085 | 25 |85 (95| 62 | 48 | - |415| 20 | 17 | 30
63 |JFL:011, $BAT:M8xL.25, BFL:065 | 3UFL:911, @FL:985 | 25 | 85| 95| 75 | 60 | - |315| 20 | 17 | 287
80 |Sm7L: 014, $BEL:M12x1.75, iBFL:092 | TFL: 014, &FL:0123 | 25 [105| 10 | 94 | 74 | - |365| 25 | 22 | 36
100 |3m7L:917.5, 4250:M14x2.0, iBFL: 0113 [;TFL: 9175, @FL:914.2) 30 | 13 |10 |114 | 90 | - [365|32 | 27 | 35
r* 5 3 1
NP A5






